
6$)(7<�3/$1�±�3/$1�6,*851267,
�����,7,1(5(5����,1$�&52$7,$�'(/7$�5$//<�µ��/(*�,������������7&66 /RFDWLRQ 66GLVWDQFH /LDVLRQGLVWDQFH 7RWDOGLVWDQFH 7DUJHWWLPH )LUVW�FDUGXH��6(&7,21��=$*5(%�±�=$*5(%7&�� =DJUHE��=DJUHEDþNL�YHOHVDMDP�±�6WDUW�/HJ�, � � � � �����3&�� 6DPRERU � ����� � �7&�� $QLQGRO � ���� ����� ��¶ �����66�� 3OHãLYLFD�� ����� � � �¶ �����ýHJOMH�5HIXHOLQJ ����� ����� ����� IURP�UHIXHOLQJ7&�� -XUNRYR�6HOR � ����� ����� ��¶ �����66�� äXPEHUDN�� ����� � � �¶ �����7&�� %XGLQMDN � ���� ����� ��¶ �����66� %XGLQMDN�� ����� � � �¶ �����7&��$ =DJUHE��=DJUHEDþNL�YHOHVDMDP�±�5HJURXSLQJ�LQ � ����� ����� ��¶ �����5HJURXSLQJ�±�SDUF�IHUPH ��¶��6(&7,21��=$*5(%�±�=$*5(%7&��% =DJUHE��=DJUHEDþNL�YHOHVDMDP�±�5HJURXSLQJ�RXW�6HUYLFH�LQ � � � �����6HUYLFH�$��=DJUHE��=DJUHEDþNL�YHOHVDMDP� ������� ������� �������� ��¶7&��& =DJUHE��=DJUHEDþNL�YHOHVDMDP�±�6HUYLFH�RXW � � � � �����3&�� 6DPRERU � ����� � �7&�� $QLQGRO � ���� ����� ��¶ �����66�� 3OHãLYLFD�� ����� � � �¶ �����ýHJOMH�5HIXHOLQJ ����� ����� ����� IURP�UHIXHOLQJ7&�� -XUNRYR�6HOR � ����� ����� ��¶ �����66�� äXPEHUDN�� ����� � � �¶ �����7&�� %XGLQMDN ���� ����� ��¶ ����66� %XGLQMDN�� ����� � � �¶ �����7&��$ =DJUHE��=DJUHEDþNL�YHOHVDMDP�±�5HJURXSLQJ�LQ � ����� ����� ��¶ �����5HJURXSLQJ�±�SDUF�IHUPH ��¶7&��% =DJUHE��=DJUHEDþNL�YHOHVDMDP�±�5HJURXSLQJ�RXW�6HUYLFH�LQ � � � �������6(&7,21��=$*5(%�±�=$*5(%6HUYLFH�%��=DJUHE��=DJUHEDþNL�YHOHVDMDP� ������� ������� �������� ��¶7&��& =DJUHE��=DJUHEDþNL�9HOHVDMDP�±�6HUYLFH�RXW � � � � �����7&�� =DJUHE��+LSRGURP � ���� ���� ��¶ �����66�� ,1$�� ���� � � �¶ �����7&��$ =DJUHE��=DJUHEDþNL�9HOHVDMDP����6HUYLFH�LQ � ���� ����� ��¶ �����6HUYLFH�&��=DJUHE��=DJUHEDþNL�YHOHVDMDP� ������ ������ ������� ��¶7&��% =DJUHE��=DJUHEDþNL�9HOHVDMDP�±�6HUYLFH�RXW�±�3DUF�IHUPH�LQ � � �����

/HJ�,�WRWDOV� ������ ������ ������ 66 ������



6$)(7<�3/$1�±�3/$1�6,*851267,

/(*�,,������������7&66 /RFDWLRQ 66GLVWDQFH /LDVLRQGLVWDQFH 7RWDOGLVWDQFH 7DUJHWWLPH )LUVW�FDUGXH��6(&7,21��=$*5(%�=$*5(%7&��& =DJUHE��=DJUHEDþNL�YHOHVDMDP���6WDUW�OHJ�,,�� 6HUYLFH�LQ � � � �����6HUYLFH�'��=DJUHE��=DJUHEDþNL�YHOHVDMDP� ������ ������ ������ ��
7&��' =DJUHE��=DJUHEDþNL�YHOHVDMDP���6HUYLFH�RXW � � � � �����7&�� %OL]QHF � ����� ����� ��¶ �����66�� âHVWLQH�� ����� � � �¶ �����7&�� 3ODQLQD�*RUQMD � ����� ����� ��¶ �����66�� /D]�� ����� � � �¶ �����3LOD�±�5HIXHOLQJ ����� ����� ������ IURP�UHIXHOLQJ7&��� 3LOD � ����� ����� ��¶ �����66��� 6OMHPH�� ����� � � �¶ �����7&���$ =DJUHE��=DJUHEDþNL�YHOHVDMDP���5HJURXSLQJ�LQ � ����� ����� ��¶ �����5HJURXSLQJ���SDUF�IHUPH ��¶��6(&7,21��=$*5(%�=$*5(%7&���% =DJUHE��=DJUHEDþNL�YHOHVDMDP���5HJURXSLQJ�RXW�6HUYLFH�LQ � � � �����6HUYLFH�(��=DJUHE��=DJUHEDþNL�YHOHVDMDP� ������� ������� �������� ��
7&���& =DJUHE��=DJUHEDþNL�YHOHVDMDP���6HUYLFH�RXW � � � � �����7&��� %OL]QHF � ����� ����� ��¶ �����66��� âHVWLQH�� ����� � � �¶ �����7&��� 3ODQLQD�*RUQMD � ����� ����� ��¶ �����66��� /D]�� ����� � � �¶ �����3LOD�±�5HIXHOLQJ ����� ����� ������ IURP�UHIXHOLQJ7&��� 3LOD � ����� ����� ��¶ �����66��� 6OMHPH�� ����� � � �¶ �����7&���$ =DJUHE��=DJUHEDþNL�YHOHVDMDP���6HUYLFH�LQ � ����� ����� ��¶ �����6HUYLFH�)��=DJUHE��=DJUHEDþNL�YHOHVDMDP� ������� ������� �������� ��
7&���% =DJUHE��=DJUHEDþNL�YHOHVDMDP���6HUYLFH�RXW � � � � �����7&���& =DJUHE��7UJ�EDQD�-��-HODþLüD�±�+ROGLQJ�DUHD�LQ � ���� ���� ��
 �����+2/',1*�$5($ � � � ��¶),1,6+�&(5(021<� )LQLVK�SRGLXP�LQ � ���� ���� �����7&���' =DJUHE��7UJ�EDQD�-��-HODþLüD���)LQLVK�SRGLXP�RXW � � � �
 �����7&���( =DJUHE��=DJUHEDþNL�9HOHVDMDP����3DUF�)HUPH�LQ � ���� ���� ��
 �����/HJ�,,�WRWDOV� ������ ������ ������ 66 �������
5DOO\�WRWDOV� ������ ������ ������ 66 �������


